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th\s date, the company declared a fotal cash dividends of $ 420,000. It should be noted that the
".( O apany did not pay any dividends during 2018 and 2019.

quuhd. How much Is the total cash dividends that common stockholders will get?

(m\oanoumwﬂdondmcmamdmodola.lofoxomph.lyom
answer is $10,000, write it as 10000)
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/,; o prefened stock hod o marke! phice of $ 3 per hare.

niry 3 Purchased 10,000 of fis common shares rom the mariet for The Fecsury. when e mane!
8 por common share was $ 4.

Ertry 4 Sold 2,000 shares of its freasury stock for § 6 per share.

The number of ssued common shares i,

mmmmﬁwmmamduw.hw.lm
is $10,000, write i as 10000)
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ve Cor soration Is authorized to Issue 2,000,000 shares of $1 par value common stock, and 200,000
xes of 10%. $ 10 par value prefered Stock. During 2019, the company has the following stock

Enfry | Issued 620,000 common shares of sfock at $2 cash per share.
Entry 2 lssued 25,000 preferred shares to purchase aland advertised for sale af $ 320,000, On this

~ Question: In entry 2, Land will be debited for...............
| NO‘I!:(WM writing your answer do not use commas or sign of the dollar. For example, if your
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Enw 2 Issued 30,000 preferred shares to purchase a land advertised for sale at $ 300,000. On this
~ day, the prefered stock had a market price of $ 9 per share.

‘r. h B\iy 3 Purchased 10,000 of its common shares from the market for the freasury, when the market
‘.\ price per common share was $ 4,

Entry 4 Sold 2.000 shares of its treasury stock for $ 4 per share.,
Question: The number of issued COMMON SHOS iS......ovevr e

NOTE: (When writing your answer do not use commas or sign of the dollar, For example, if your
answer is $10,000, write it as 10000)

M\ M\ ~Jasd ad gl - SN X Ay

1148000 x

B COMBCT Qrswer ks, 400000



of a stock dividend decreases a corporation's stockholders’ equity and
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| dividends was declared and distributed to shareholders.After that, the company
ed 10,000 of these shares as Treasury stOck

‘end, a stock split of 1: 2 was approved bnd implemented by the compony

M ‘mmbet of issued shares at year end Is.........c.uen,
< |

NOT : (When writing your answer do not use commas or sign of the dollar. For example, if your
nswer is $10,000, write it as 10000)
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Nick is admitted to an existing partnership by
investing cash. Nick agrees to pay a bonus to old
partners because of the past success of the
partnership. When Nick’s investment in the
partnership is recorded

a. his capital account will be credited for less
than the cash he invested

b. his capital account will be credited for the
amount of cash he invested

c. his capital account will be credited for more
than the cash he invested

© d. abonus will be credited for the amount *
of cash he invested

The correct answer is: his capital account will be
credited for less than the cash he invested
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fo ," )8! hc. has 10,000 shares of 6%, $100 par value, cumulative pnlorroduockmd l
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08 ] {pa value common stock outstanding at December 31, 2017, What Is the annual



The siraight-line depreciation method and the double-declining-balance dep :

reciation meth_qdi’-'i‘
® a.

|
Produce the same total depreciation over an asset's useful life. |
Are acceptable for tax purposes only.

Produce the same book value each year.

QOIS

Produce the same depreciation expense each year.

The comrrect answer is: Produce the

er an asset's useful lif

D
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depreciation expense during the early years of an
asset’s life and smaller expense in the later

yeaQars IS Q(anj.

Q
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O
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o
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v
. Siraig e deprec =
C. Book value depre
d. Unit ©
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e comrect answer is: An estimate of the asset's value

at the end of its benefit perioa.

change in an accounting estimate is:

i@ P Reflected in current and fuiure years' financial statements, not in prior statemé"f'
b Reﬂected in past financial statements.
Not allowed under current accounting rules.

-'i-' Reflected in future fnancial statements and also requires modification of tateme

| e
— L "" by .
R, -

current and future years __o,vf-wf"":"‘ :




The comrect answer is: $0.625.

p =i
&e

An asset's book value is $18,000 on December 31, Year 5. The asset has been.depreciated at =5
annual rate of $3,000 on the straight-line method. Assuming the asset is sold on December,ai},g sar 5
for $15,000, the company should record: '3

a. Neither a gain nor a loss is recognized on this fransaction.
b. A loss on sale of $12,000.

c. A gain on sale of $1 2,000.

d

A loss on sale of $3,000.




,. lIfe of a plonf asset I AN R

The lengfh of time it is productively used in a company 's oper |

Determined by the FASB.
Never related to its physical life.
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The characteristic of a partnership that gives the
authority to any partner to legally bind the
partnership and all other partners to business
contracts is called

() a. unlimited liability
) b. ease of formation
@® c. mutual agency

) d. dissolution

Clear my choice

Question 1 8
Not yet answered
Marked out of 1.00

V" Flag question

When a partner invests noncash assets in a
partnership, the assets should be recorded at
their



A bond with a face value of $200,000 and a
quoted selling price of 102 has a selling price of

Oy a. $240,000.
@ b. $204,000.
y ¢. $200,000.

() d. all answers are wrong.

" "‘;2' .“.I‘l »

Question 2 3

Not vet answered
Marked out of 1.00

" Flag question

A company's income statement showed the
following: net income, $124,000 and depreciation
expense, $30,000. An examination of the
company’s current assets and current liabilities
showed the following changes: accounts



The statement of cash flows reports and proves
the net change in cash for a reporting period.

® a. TRUE
() b. FALSE

Clear my choice



The journal entry a company records for the
issuance of bonds when the contract rate is
greater than the market rate would be

() a. debit Bonds Payable, credit Cash
) b. debit Cash and Discount on Bonds
Payable, credit Bonds Payable

@ c. debit Cash, credit Premium on Bonds
Payable and Bonds Payable

() d. debit Cash, credit Bonds Payable

Liear my ci



Question 1 1

Not yet answered
Marked out of 1.00

{" Flag question

The process of allocating the cost of a plant
asset to expense in the accounting periods
benefiting from its use is called depletion.

O a. TRUE
@ b. FALSE

Clear my cholce

Que-:lson 1 2
Not yet answered
Marked out of 1.00

" Flag question

The double-declining balance method is applied
by (1) computing the asset's straight-line
depreciation rate, (2) doubling it, (3) subtracting

. - LT )






Cash receipts and cash payments are classified
as operating, investing, or financing activities on
the statement of cash flows.

@ a. TRUE
O b. FALSE

' 1 P= Bl o e
Liear my choice



When a partner invests in a partnership, his or her
partnership capital account is debited for the
amount invested.

() a. TRUE
@ b. FALSE
Clear my choice
')'leslmﬂ4

Not yet answered
Marked out of 1.00

¥ Remove flag

A partnership may allocate salary allowances to

the partners who spend more time working for
the business.

() a. TRUE
) b. FALSE



On December 1, Victoria Company signed a 3
month, 6% note payable, with a face value of

$15,000. What amount of interest expense Is
accrued at December 31 on the note?

O a $0
@ b. $§75
O ¢ $900
O d. $225
Clear my cholce
Question 29

Not yet answered
Marked out of 1.00

" Flag question



A retained earnings statement shows the same
information as a corporation income statement.

@ a. TRUE
) b. FALSE

lear mv choice



Cash dividends are normally paid on shares of
treasury stock.

~y a. TRUE
@® b. FALSE

Clear my choic



A short-term note payable:

@ a. |s awritten promise to pay a specified
amount on a stated future date within

one year or the company’s operating
cycle, whichever is longer.

) b. Is acontingent liability.
() €. Is an estimated liability.
-y d. Is not a liability until the due date.

’ "\ T .
» .'[(. ._.:'\” =

Question 3
Not vetl answered

Marked out of 1.00

Y Flag question

When a partner invests in a partnership, his or her
partnership capital account is debited for the

amount invested.



The cash received at the end of a busy day in a
furniture store was $28,000. This amount
includes sales taxes of $3,000. What is the
percentage of sales taxes?

O a 10.7%
@ b. 12%.
O ¢ 13.6%.
O d. 9.6%.
Clear my choice
Question 22

Not yet answered
Marked ocut of 1.00

" Flag question

A bond with a face value of $200,000 and a
quoted selling price of 102 has a selling price of

) a. $240,000.



A statement of cash flows explains the
differences between the beginning and ending
balances of:

) a. Netincome.

) b. Equity.

@ c. Cash and cash equivalents.
) d. Working capital.

Question 10

Not vet answered
Marked out of 1.00

" Flag question

The statement of cash flows reports all but which
of the following:

() a. Cash flows from operating activities.

¢y b. Cash flows from investing activities.



A partnership may allocate salary allowances to
the partners who spend more time working for
the business.

® a. TRUE
)y b. FALSE

!'o.i’ ."I N



A company's income statement showed the
following: net income, $124,000 and depreciation
expense, $30,000. An examination of the
company'’s current assets and current liabilities
showed the following changes: accounts
receivable decreased $9,400; merchandise
inventory increased $18,000; and accounts
payable increased $3,400. Calculate the net cash
provided or used by operating activities.

O a. $118,000,
o b, $159,200.
O ¢ $123,200.
@ d. $148,800.

irmy cholice



The interest rate investors demand for loaning
funds is the

® a. market interest rate.
() b. stated rate.
() c. contractual interest rate.

) d. bond interest rate.

Clear my choilce

Question 6
Not yet answered

Marked out of 1.00

" Flag question

The journal entry a company records for the
issuance of bonds when the contract rate is
greater than the market rate would be



Markea out ot 1.0u

Y Flag question

When a partner invests noncash assets in a
partnership, the assets should be recorded at
their

() a. book value,
~y b. carrying value.
@ c. fairvalue.

() d. original cost.

Clear mv cholce



The difference between the amount received
from issuing a note payable and the amount
repaid at maturity is referred to as:

@ a. Interest.

) b. Principal.
() ¢. Face Value.
() d. Cash.
Clear myv choice
Question 2

Not yet answered
Marked out of 1.00

" Flag question

A short-term note payable:

() a. Is awritten promise to pay a specified
amount on a stated future date within

[l O] <
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Ouistanding 2229992 shares $1:800,000

Common stock dividends distribulable $90.000

Paid in capital In excess of par- common $200,000

Paid In copital in excess of par- preferred $02.000

Total paid in Capliol $2,572.000

Relained Eamings §340.000

Total stockholders' Equity $3,112,000 .

in January 2021, the stock dividends was issued. and the company re-aecquired some
ol

its common shores from the market, by paying $240,000. when the marke! price was
$6
per shore,
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Required how many shares are outstanding at the end of Jonuary 2021%

MmommonuMoW(mcmuSdgm).

Arswer: 314000 »



